
C-92563-CO-KIT
KIT TO CONNECT C-2610-OS-W CROSSOVER
ATTACHMENT TO C-92563-W POWER RACK

ASSEMBLY INSTRUCTIONS

DRAWING # 1

2610 CROSS BEAM
TIE BAR

POWER RACK UPRIGHT

2
1

TDS Fitness Equiment



DRAWING #2

BASE OF
CROSSOVER

LOWER TIE BAR

BASE OF POWER RACK

(4)

(3)



C-92563-CO-KIT
KIT TO ATTACH C-2610-OS-W CROSSOVER ATTACHMENT TO C-92563-W POWER RACK

ASSEMBLY INSTRUCTIONS

BEFORE YOU BEGIN: ASSEMBLE C-2610-OS-W CROSSOVER ATTACHMENT PER 
INSTRUCTIONS.

NOTE: HOLES MUST BE PRESENT IN FRONT OF BASE TO ATTACH THIS KIT.

1) SEE DRAWING #1
ATTACH LEFT HAND AND RIGHT HAND UPPER TIE BAR TO 2610 CROSS BEAM WITH (4) 3/8 X 
3 BOLTS, (8) 3/8 FLAT WASHERS, AND (4) 3/8 LOCK NUTS.

2) ATTACH LEFT HAND AND RIGHT HAND UPPER TIE BAR TO FRONT POST ON POWER RACK 
WITH (4) 3/8 X 3 BOLTS, (8) 3/8 FLAT WASHERS, AND (4) 3/8 LOCK NUTS.

3) SEE DRAWING #2
ATTACH LOWER TIE BAR TO CROSSOVER BASE WITH (4) 3/8 X 3 BOLTS, (8) 3/8 FLAT 
WASHERS, AND (4) 3/8 LOCK NUTS.

4) ATTACH LOWER TIE BAR TO POWER RACK BASE WITH (4) 3/8 X 1 BOLTS. SET UNIT ON 
LEVEL SURFACE AND TIGHTEN HARDWARE.

HARDWARE LIST

(16) 3/8 X 3 BOLT
(32) 3/8 FLAT WASHER
(16) 3/8 LOCK NUT

NOTE: ALL MEASUREMENTS ARE IN INCHES.


	Page 1
	Page 2
	Page 3

